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1) 31—2n — 31—3n
1-2n=1-3n
+3n + 3n
1+n=1
_ -1 -1
n=20

3) 4%¢=1
42a:10
2a_0

a 2
a=0

5) (%)_k = 12572k2

(5—2)—k — (53)—2k—2
52k — 5—6k—6

2k = -6k —6

+6k + 6k

% _ 6

8 8

k=—

W

7) 62m+1 — i

36
62m+1 — 6—2
2Zm+1=-2
-1 -1

11) 640 = 25
(26)1) — 25
261) — 25
6 _5

6 6
5
=23
6

x
13) (%) - 16
(4—1)x — 42
4% = 42

x 2

-1 -1
x=—-2

17) 363* = 216%**1
(62)3% = (63)2x+1
66x — 66x+1
6x =6x+1
—6x — 6x
0=1
false
No Solution

19) 92*3 = 243
(32)2n+3 =35

34n+6=35
n+6=5
-6 —6
an_ -1
4 4

1

n=-—-

4

21) 33%2 = 33x+1
3x—2=3x+1
—3x — 3x
-2=1
false
No Solution

23) 372 =33
“2x _ 3
-2 -2
3
xX=—--
2



25) 5M+2 4 5—m 1

35) 92« (—)3x = 2437%

m+2=-m 243
—m —m (32)—2)6(3—5)3)6 — (35)—)6
2 2m 3—4-x . 3—15x — 3—5x
2 =2 3-19% = 3A _ 5y
—l=m —19x = —5x
- 4+19x 4+ 19x
L) = 0 _ 14x
27) (g) =216 2o
(6P 1t =63 0=x
6—2b+2 — 63
— — 3n—-1
2b +22 = 32 37) 6471—2 . 16n+2 — (%)
T (43)n—2 . (42)n+2 — (4—1)371—1
T3 4316 , 42n+4 _ 4—3n+1
b= -1 4512 — 4—3n+1
2
Sn—-2=-3n+1
29) 1627 = 62 43n +3n
2 —2x=2 8n—2=1
-2 -2 #
—2x 0 8n _3
- T 8 8
x=0 n= g
31) 4. 2(=3n-1) :% 39) 5—3n-3 ,52n _ 1
22 . 2—3n—1 — 2—2 5—71—3 — 50
2—3n+1 — 2—2 —-n—3=0
—3n+1=-2 +3 +3
-1 -1 —==3/-1
_3n_=3 n=-3
-3 -3
n=1

33) 43k—3 . 42—2k — 16—k

4k—1 — (42)—k
4k—1 — 4—2k
k—1=-2k
—k —k
-1 o3k
-3~ -3



